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A % é tre frazioni, decimali, ordine delle operazioni con
~ parentesi

Nome: Data: Punteggio:
24 196 2
2(1+3 3) = 4(49+3)—

3 7 ’ 2

| —
2(3,8 — g) _ 44,3 +5,2)
99 _ _
(= +3)+9= (5-2,4)%x2,3
2
3 23 2
S+ -)x5,5= — +=)+r2=
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tre frazioni, decimali, ordine delle operazioni con

parentesi
Nome: Data: Punteggio:
24 196 2 27
— ——)F8=(—— 3+5,1)x == —
1 109 128
2(5 +3,3 44,9+ =
(+33) = 4.9+3)-
104 —
3.8 _) 44,3 +5,2) = 38
15
35 299
(— +3)+9= 5—2,4)x2,3=
50
253 23 79
S5+ -)x5,5= —+=)+2=
(5+3)x55- 2 E+Dea-1

www.snowmath.com



https://www.snowmath.com

